
L2 Simplifying Exponents Practice #3 

Simplify – that is remove brackets and combine all possible terms 

1. √0.25𝑘10    

2. (6𝑥)2(2𝑥)−2     

3. (81𝑦4)0.25    

4. √1000𝑘63
    

5. (
𝑘

 2𝑦2)      

6. (
5𝑦

 𝑥2)      

7. 
𝑥3

 9𝑥−2      

8. (6√𝑝)
2
    

 

9. √49𝑎−2𝑏3  

10. (10𝑥−1)√125𝑥63
  

11. (
4𝑝

 𝑥−2)    

12. (5𝑘3)−2  

13. (
𝑥

 36𝑝−2)    

14. (
 𝑥−1

4𝑦
)    

15. (2𝑥𝑦)3(4𝑦)−2  

16. (
2√𝑥

√𝑥5
)    
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Answers: L2 Simplifying Exponents Practice #3 

Simplify – that is remove brackets and combine all possible terms 

1. √0.25𝑘10 = √0.25 √𝑘10 = 0.5𝑘5   

2. (6𝑥)2(2𝑥)−2 = 
 62𝑥2 

22𝑥2    = 9    

3. (81𝑦4)0.25   = 810.25𝑦4 × 0.25 = 3𝑦 

4. √1000𝑘63
 = √1000

3
 √𝑘63

 = 10𝑘2   

5. (
𝑘

 2𝑦2)   = 
𝑘3

23(𝑦2)
3  = 

 𝑘3 

 8𝑦6   

6. (
5𝑦

 𝑥2)    = 
  𝑥2 

5𝑦
   

7. 
𝑥3

 9𝑥−2   = 
𝑥3 × 𝑥2

9
 = 

 𝑥5

 9
   

8. (6√𝑝)
2
   =  62(√𝑝 )2  =  36𝑝 

 

9. √49𝑎−2𝑏3 = 
√49 √𝑏3

√𝑎2
  = 

 7𝑏1.5 

𝑎
   or = 7𝑎−1𝑏1.5 if you prefer 

10. 10𝑥−1 √125𝑥63
 = 

10

𝑥
× √125

3
 √𝑥63

 = 
10

𝑥
× 5𝑥2

 = 50𝑥 

11. (
4𝑝

 𝑥−2)   = (4𝑝𝑥2)2 = 16𝑝2𝑥4 

12. (5𝑘3)−2 = (
1

 5𝑘3)   = 
1

52(𝑘3)
2  = 

 1 

25𝑘6    or =  0.04𝑘−6 

13. (
𝑥

 36𝑝−2)   =  (
 𝑥 𝑝2

36
) = 

√𝑥√𝑝2

√36
 = 

 √𝑥 𝑝 

 6 
   or =  

 𝑥0.5 𝑝 

 6 
 

14. (
 𝑥−1

4𝑦
)   =(

1

4𝑥𝑦
) = (4𝑥𝑦)2  = 16𝑥2𝑦2 

15. (2𝑥𝑦)3(4𝑦)−2 = 
23𝑥3𝑦3 

42𝑦2   = 
𝑥3𝑦 

2
       or =  

1

 2 
𝑥3𝑦 

16. (
2√𝑥

√𝑥5
)   = 

√𝑥5

2√𝑥
 = 

𝑥2.5

2𝑥0.5 = 
 𝑥2 

2 
   or  

1

 2 
𝑥2 
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